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WRONG KEY

The unit of electric energy 1S .oovcvveiceeiiecee .. Option:

The answer kev: All of the above No:4 Joule and Kilowatt-hour are the units.watt-
second 1s the unit of power. Hence No: 4 is wrong.

..........................

The answer key: | DC only.Explanation: There are clectrolytic capacitor

which are working in AC and also in DC. Hence the correct answer is (3)
both AC & DC.

Which of th e following cannot actually move?
Answer Key: 3 (Holces)

Explanation : The option (2) irons consists of negative iron and positive iron
which are immovable. Hence option (2) iorns is the correct answer.

The modulation techniques used to convert analog signal into digital signal

Aswer kev: (4) All of these

Explanation : (1) Pulse code modulation is the correct answer. Delta modula
tion (2) and adaptive delta 1s out of syllabous position.

Which is not computer classiftocation?
Answer Key: (1) Main frame.
Explanation: The correct answer is (2) maxframe,

Which of th e following is a storage device?
Aswer Kev: (1) Tape
Explanatiom: Thew correcrt aswer is (4) all of these.

MICR stands for
Answer Kev: (3) Magnetic ink cases reader
Explanation: The correct answer is (1) Magnetic ink character reader.

Computer system consists of the following major units
Answer Key: (1) Input units, Output units and control units,

Explanation:Option (2} input unit, output unit, control units and storage unit
is the correct answer.

ASCII stand for?

Answer Key: (3) Amcrican standard code for intelligence interchange.

Explanation: The correct answer is (1) American standard code for informa
tion interchange. This is also an out of syllabus question.

. A computer consists of
Answer Key: (1) A central processing unit,

Explanation: The correct answer is (4} All of these.



